














Tabauya 2

CeyeHHue
W = T | P
= » PA3HOCTh ¢° sin 2¢ Cos 2¢ Thy = T sin 29 27 cos 2¢
o gxowmn, Xo/a T 27
F - g !;L n
3 4 5 6 7 8 9 10 11
] 0,0 47 92 0,076 55 0,939 0,071
e 35 o 9 0,1 49 99 0,082 51 0,978 0,080
Faib= =S 3 0,2 52 111 0,092 44 —0,999 —0,092
4 0,3 57 132 0,109 34 —0,927 —0,101
ol |
| ]
(R 1 X ¢ 49 99 0,082 0,164 53 —0,275 —0,045
— 0.00 2 el 57 132 0,109 0,218 47 =0 069 | —0,014
¢ =0, 3 0,2 56 128 0,106 0,212 43 0,069 0,014
4 0,3 59 142 l 0,118 0,236 33 l 0,406 0,095
| | !
’ ] 0,0 54 119 0,099 52 | 0,096
ST 2 0,1 59 142 | 0,118 ” 49 0,117
| Sl 3 0,2 57 132 0,109 42 —0,108 |
| 4 0,3 64 165 0,137 31 —i0._121










